AEKATH OFAOH (18" NATKYIMPIA AOTIZTIKH OAYMIIAAA
KYPIAKH 10 MAPTIOY 2024

ENINEAO 1

TO EZETAZTIKO AOKIMIO AMOTEAEITAI ANMO AEKA EZ=I (16) ZEAIAEZ
KAI MEPIAAMBANEI (25) EIKOZI MENTE EPQTHZEIZ MOAAANAHZ EMIAOIHZ

OAHrIEZ MPOZ TOYZ AIATQNIZOMENOYZX
MNa kaBe epwTnON, ETIAESTE KOOI YPAWTE TN owOoTH amrdvrnon A, B, ' | A o1o @UAAO
TToU c0g 560NKE.

THIS EXAMINATION PAPER CONSISTS OF SIXTEEN (16) PAGES.
AND INCLUDES 25 (TWENTY-FIVE) MC QUESTIONS

INSTRUCTIONS TO CANDIDATES
For each question, choose and write the correct answer A, B, Cor D in the
additional sheet provided.

1 In atrial balance, which one of the following items would be correctly shown as a debit
balance?

bank overdraft

accumulated depreciation (provision for depreciation)
returns inwards

returns outwards

OO wm>

1 Tloio a1rd Ta akdAouba oToIxeia eppaviCeTal HE XPEWOTIKO UTTOAOITTO OTO 100JUYI0;

TTapaTPARNyua NG TPATTECAS
OUCOWPEUPEVEG OTTOORETEIC
ETTIOTPOYES TTWANCEWV
ETTIOTPOYES AYOPWIV

B w >
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2 What increases owner’s capital?

bank loan extended from five to ten years
purchase of inventory on credit

purchase of machinery by cheque

transfer of vehicle to business from private use

0O w>

2 [Moio au¢dvel To KEQAAaIo TOU IIOKTATN;

A 1O TPaTTECIKO DAVEIO TTAPATEIVETAI ATTO TTEVTE O€ OEKA £TN

B ayopd eUTTOPEUNATWY PE TTIOTWON

I ayopd unxavnuaTwy JE TTITAYN

A petaBiBaon oxnuarog oTnv €mmxeipnon atrd IBIWTIKA KAl TTPOCWTTIKA XPron

3 At 1 January 2023, there was a credit balance of €800 on the electricity account.
Payments made during the year totalled €4 900. At 31 December 2023, a further
€1 800 of electricity had been and used since the last invoice was paid.

What is the charge to the statement of profit or loss (income statement) for electricity
for the year 2023?

A €2300 B €5900 C €6700 D €7500

3 Tnv 1n lavouapiou 2023 utrpxe TIOTWTIKG uttdAoITTo €800 oTOoV Aoyaplaoud
NAEKTPIKNAG evépyelag. O1 TTANPWUEG TToU TTpayuaToTToINOnKav Katd Tn SIAPKEIa TOU
¢toug avAABav ouvoAika o€ €4 900. 21ig 31 AekepBpiou 2023 gixav xpnoiyoTroinoei
akoua €1 800 nAeKTPIKAG evEPyEIag atrd TOTE TTOU TTANPWONKE TO TEAEUTAIO TIHOAGYIO.

Mola gival N Xpéwaon oTnv KATAoTaoT ATTOTEAEOUATWY, TOU AOyapIaooU NAEKTPIKAG
evépyelag yia 1o €106 2023;

A €2300 B €5900 r €6700 A €7 500
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4 A trader, Antonis Philippou who is car dealer of used and new cars, purchases fifty new
vehicles by cheque from Haruma Miura, a Japanese car exporter.
How should Antonis record this transaction in his books?

account to be debited account to be credited
A purchases Haruma Miura
B bank purchases
C motor vehicles Haruma Miura
D purchases bank

4 O Aviwvng QINITTITTOU TTOU EUTTOPEUETAI HETAXEIPICPEVA KAl Kalvoupyla auTokivnTa,
ayopaoe TTeEVAVTA Kalvoupyla auTtokivnta he emTayn atrd 1o Xapouua Mioupa, éva
l[GTTwva Caywyéa AUTOKIVATWYV.

Mwg TTpéTTel 0 AvTwvng va Kataypdwyel auth Tn cuvaAAayr ota BiBAia Tou;

£wo mioTwon
A ayopég Xapouua Mioupa
B T1pdtreCa ayopéEg
Ir  auTtokivnTta Xapouua Mioupa
A ayopég TpatreCa

5 Sales for the year are €500 000, gross profit €100 000, opening inventory €36 000,
closing inventory €44 000, purchases €384 000 and carriage inwards €4 000.
What is the amount of the returns inwards for the year?

A €40 000 B €24 000 C €20000 D €16 000
5 O1 mwAAjoeig yia 1o €106 gival €500 000, To pIkTd KEPDOOG €100 000, TO ApPXIKO ATTOBEUA
€36 000, 1o TeAIKO amoBepa €44 000, o1 ayopég €384 000 kal OI HETAPOPES AYOPWV

€4 000. Tloio €ival TO TTOGO TWV ETTIOTPOPWYV TTWANTEWYV YIa TO £T0G;

A €40 000 B €24 000 I €20 000 A €16 000
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6 On 1 July 2021 a firm purchased a new machine for €32 000. The estimated life is 5
years and the estimated residual value is €2 000. Using the straight line method of
depreciation for each month of ownership, what will be the net book value of the
machinery in the statement of financial position at 31 December 20237

€30 000
€14 000
€17 000
€15 000

0O w>r

6 Tnv 1n louAiou 2021 pia eTaipeia ayopaoe Eva véo pnxavnua €32 000. H ekTipwuevn
d1dpkeIa WPENIUNG CWAG gival 5 €T KAl N EKTIHWPEVN UTTOAEIMATIKN agia gival €2 000.
Me Tn puéBodo TnG oTabepn amméoBeong yia KABe puriva 1810KTNaiag, TTola Ba gival n
kaBapn AoyIoTIKA agia Twv unxavnudtwy oTnv KaTdoTaon XPnuUaTooiKOVOMIKAG B€ong
oTig 31 AekepPpiou 2023;

€30 000
€14 000
€17 000
€15 000

B w >

7 Originally, we sold 160 items at €30 each, less trade discount of 12,5%.
What is the amount to be recorded in the books if the customer returns 12 items?

A €315 B €360 C €405 D €190
7 Apxika TTouArioaue 160 Tepdyia Tpog €30 To KaBEvVa, Yeiov TNV EPTTOPIKI EKTTTWON
12,5%. lMoio €ival To TT000 TToU TTPETTEI Va KaTaxwpnOei ota BIBAiIa eav 0 TTEAGTNG

ETMOTPEYEI 12 TEPAXIQ;

A €315 B €360 I €405 A €190
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8 A trial balance shows trade receivables of €50 000 and allowances for receivables of
€3 000. Itis decided to make the allowances for receivables equal to 5% of trade
receivables.

What book-keeping entry will be made on the allowances for receivables account?

A credit €500
B debit€2 500
C credit€3 000
D debit €500

8 ZT10100CUYyI0 uTTdpxouv Ta TTood €50 000 yia xpewoTeg kal €3 000 yia TTPoRAEYEIS yia
EMOQaAEiC ammautTioelg. H eTTixeipnon amo@dcioe n TPORAEWN yia ETTICQPAAEIC
ATTAITACEIG VA €ival 10N YE TO 5% TwV XPEWOTWV.

Mola AoyIoTIKA eyypa@r Ba TTPETTEN va Yivel 0TO Aoyaplacuo TTPORAEWEIS yIa ETTICQPAAEIG
ATTAITAOEIG;

TioTwon €500
xpéwaon €2 500
mioTwon €3 000
xpéwon €500

B W >

9  Which of the following should be classified as current liabilities?
1. trade receivables

bank overdraft

trade payables

expenses prepaid

Hwn

2and 4
3and 4
2and 3
1and 2

OO0 w>
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9 Tlolo atd Ta Mo KATW gival BpaxutrpdBecuo TadnTIKS;
1. XpewaoTeg

TTapaTpdpnyua Tpdmedag

TNOTWTEG

£€€00a TTPOTTANPWHEVA

Hwn

2 kai 4
3kal 4
2 ka1 3
1 kai 2

B W >

10 Which of the below is correct?

1. Profit for the year is entered on the credit side of the capital account.

2. The amount of drawings is entered on the credit side of the capital account.
3. Additional capital is entered on the credit side of the capital account.

4. loss for the year is entered on the credit side of the capital account.

A land3

B 2and4

C 2and3

D land?2

10 Tlolo atd Ta TTapakaTw gival opbo;

1. To k€PDOG TOU £TOUG TTICTWVETAI OTO AoyapIaoud KEQAAaio

To 11000 TwV AVAAAWEWV TTIOTWVETAI OTO AOYAPIAOHUO KEQPAAQIO

To TTpOCOETO KEPAAQIO TTOU CUVEITPEPEI O IBIOKTHTNG TTICTWVETAI OTO AOYapPIOTHO
KEPAAQIO

H {nuid Tou £€TOUG TTICTWVETAI OTO AoyapIaoud KEQAAQIO

w N

»

1kai 3
2 ka4
2 ka1 3
1kai 2

B w >
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11 Andriana sells mattresses to Fay.

11

Price list

Size

Cot bed
Single
Double
King
Emperor

Orders over €9 000 receive a trade discount of 5% on the total amount.

€
100
200
300
400
500

On 10 March 2024, Fay purchased 12 cot beds, 15 single, 8 double and 7 king size

mattresses. How much is the final amount Fay will have to pay to Andriana?

OO w>

H Avdpidva TTould otpwuata otn Pain.

€8 930
€9 400
€9 870
€9 000

Tiyn kataAdyou

MéyeBog
Maidikd

Movo
AITTAS
BaolAikd

AutokpaTtopikd

£
100
200
300
400
500

MapayyeAieg avw Twv €9 000 AauBdavouv gutTopikr EKTITwon 5% 0T0 OUVOAIKO TT0C0.
2116 10 Maptiou 2024, n ®ain aydopace 12 TadIkd, 15 povd, 8 dITTAG kai 7 BaciAiKd

oTpwparta. MNoéco eival To TEAIKO TTogd TTou Ba TTPETTEl va TTAnpwael n Pain otnv

Avopidva;

B W >

€8 930
€9 400
€9 870
€9 000

7116
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12

The information below relates to the delivery vehicles at 31 December 2022:
Cost value: €30 000  Accumulated depreciation: €6 000 Net Book Value: €24 000

e 1 October 2023, a new hybrid delivery vehicle was purchased for €36 000
e delivery vehicles are depreciated at the rate of 20% per annum using the

straight line method for each month of ownership

Which of the below is correct for the year ended 31 December 2023

depreciation accumulated
for the year cost depreciation net book value
A €7 800 €66 000 €13 800 €79 800
B €8 400 €66 000 €14 400 €51 600
C €7 800 €66 000 €13 800 €52 200
D €7 200 €66 000 €13 200 €52 800

O1 TTapakdaTw TTANPOPOPIES agopouVv Ta auTokivnTa oTig 31 AekeuBpiou 2022:
KooTtog Ayopdg: €30 000 2uoowpeupéveg atmmooBéoclg: €6 000
KaBapr AoyioTikn agia: €24 000

e Tnv 1n OkTwppiou 2023, ayopdoTtnke véo uPpIdIKG auTokivnTo €36 000
e Ta autokivnta ammooBévovtal e ouvteAEoTH 20% €TNCIWG XPNOIMOTTOIWVTAG TN

MEBODO TNG 0TOBEPNG aTTOoREONG YIa KABE uAva 1810KTNaiag

Molo atd Ta mapakdaTw gival cwoTd yia 1o £10¢ TTou €Anée oTIG 31 AgkepuBpiou 2023

£TACIN OUGOWPEUEVEC kaBapn
améoeon KOOTOC aTTooBEOEIG AoyioTiKn a&ia

A €7 800 €66 000 €13 800 €79 800

B €8 400 €66 000 €14 400 €51 600

r €7 800 €66 000 €13 800 €52 200

A €7 200 €66 000 €13 200 €52 800

8/16



13

13

On 1 January 2023 a business purchased a new motor vehicle, on credit, for use in
the business.
The below are payments which relate to this motor vehicle:

e purchase price €23 000

e road tax for one year €150

e insurance for one €600

e repairs for one year €1 200

e import duties €2 000

Which option of the below is correct?

capital expenditure €23 000 and revenue expenditure €3 950
capital expenditure €25 000 and revenue expenditure €1 950
capital expenditure €23 000 and revenue expenditure €1 950
capital expenditure €25 150 and revenue expenditure €1 800

OO wm>

Tnv 1n lavouapiou 2023 uia eTTIXEIPNON AyOPACE KAIVOUPYIO AUTOKIVATO PE TTIOTWON,
yla Xprion oTnv €TTIXEipnon.
Ta 1Mo KATW gival TTANPWES TTOU AQOoPOUV TO AUTOKIVNTO:

e TIUA ayopdg €23 000

e TEAN KUKAOQOPpIAg yia éva €1o¢ €150

e ao@AaAioTpa yia £va £1o¢ €600

e cTMOKEUEG YIa éva €Tog €1 200

e gl0aywyikoi daopoi €2 000

Mola etmIAoyn aTro TIG TTAPAKATW Eival opon;

KePaAalouxika £€0da €23 000 kai Aeitoupyikd £¢oda €3 950
KeQaAalouxika £€0da €25 000 kal Aeiroupyikd £€oda €1 950
KeQaAalouxika £€0da €23 000 kai Aeiroupyikd £€oda €1 950
KEQAAaIOuXIKa £€¢oda €25 150 kai Aeitoupyikd £¢oda €1 800

B W >

14

Identify the effect on profits if capital expenditure is treated as revenue expenditure.

gross profit and profit for the year overstated
gross profit understated

gross profit overstated

gross profit and profit for the year understated

o0 w>r
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14 Tloia Ba gival n eTidpacn oTa KEPDN av Ta KEGAAQIOUXIKA ££00a KaTtaxwpnBbouv katd
AGB0GC wg AeIroupyika £€00a.

UTTEPTIUNON MIKTOU KEPOOUG Kal KaBapou KEPOOUG
UTTOTiUNON MIKTOU KEPDOOUG

UTTEPTIMNON MIKTOU KEPOOUG

UTTOTiUNON MIKTOU KEPOOUG Kal KaBapou kéEPdoUg

B W >

15 On 1 May 2022 insurance paid in advance was €720. On 1 July 2022, insurance
€3 960, was paid by cheque. This covered the twelve-month period ending 30 June
2023. The accounting year ends on 30 April 2023.
Which of the below is correct for the year ending 30 June 20237

statement of profit or loss statement of financial position
A €2 580 €660 current assets
B €4 020 €660 current assets
C €4 020 €660 current liability
D €4 350 €330 current assets

15 Tnv 1n Mdiou 2022 Ta mpomrAnpwpéva ac@aliotpa ATav €720. Tnv 1n louAiou 2022,
ac@alioTpa €3 960 TTAnpwONKav Pe eTmTayr. To TTO0O autd KAAUWE pia TTEPiodo
dwdeka unvwv péxpe! Tig 30 louviou 2023. To TEAOG TNG AOYIOTIKNG XPOVIAG €ival OTIG
30 ATtrpiAiou 2023. lMoio atrd Ta TTapakdTw gival opBoG yia TNV AOYIOTIKA XPOVIA TTOU
TEAeiwoe 30 louviou 2023;

KATAoTOON ATTOTEAEOUATWY KATAOTOON XPNUATOOIKOVOUIKAC BEONG
A €2 580 €660 KUKAOQOPIOKO evEPYNTIKO
B €4 020 €660 KUKAOQOPIOKO evEPYNTIKO
r €4 020 €660 BpaxuTTpOBETUESG UTTOXPEWTEIG
A €4 350 €330 KUKAOQOPIaKO eveEPYNTIKO
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16 Yiannis purchased inventory for resale from Lucy on credit.
The goods are defective and Yiannis returns them without paying for them.
Which document should be used for this transaction?

16

OO0 w>

O MNavvng ayépace eutropeUpaTa yia JETATTwANon atrd T Aoukia pe TTioTwon.

credit note

sales invoice
purchase invoice
receipt

Ta gutTOopEUaTA €ival EAATTWHATIKA Kal O MNAvvng Ta ETTIOTPEPEI XWPIG VA TA
TTANpwaoel. olo £€yypago TTPETTEI VA XPNOIUOTTOINGEN yia auTr v TN cuvaAAayn;

B w >

TMOTWTIKO ONUEIWPA
TIMOAGYIO TTWAACEWVY
TIMOAGYIO ayopwV
aTrodeIgn

17

17

The double entry to record irrecoverable debts recovered in the accounts would be:

OO wm>

H eyypaen yia TNV KaTaxwpion €iorpagng

B w >

account to be debited

bank

irrecoverable debts recovered
irrecoverable debts

bank

£wo
TpaTTECA
giotrpagn emMOo@AAWY aTTAITACEWY
ETTIOQAAEIG ATTAITHOEIG
Tpatela

account to be credited
irrecoverable debts

trade receivables
irrecoverable debts recovered
irrecoverable debts recovered

ETMOQPAAWV ATTAITACEWV Eival:

mioTWon
ETTIOQAAEIC ATTAITAOEIG

XPEWOTEG
gioTrpagn eMO@AAWY ATTAITACEWYV
gioTrpagn MO@AAWY ATTAITACEWYV
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18

18

Identify the effect of creating an allowance for receivables (allowance for doubtful
debts).

A gross profit decreases
B gross profit increases
C profit for the year decreases
D profit for the year increases

To amotéAeopa NG dnuioupyiag TTPORAEYNG yia eTTICQAAEIG aTTaITACEIG (TTPORAEWN
YIO ETTIOQAAEIG XPEWOTEG) €ival:

A 1O HIKTO KEPDOG PEIWVETAI
B 10 pIKTO K€EPDOG authveTal
F 10 KABAPO KEPDOG HEIWVETAI
A 10 KOBAPO KEPDOG augaveTal

19

19

The double entry to record the writing off of an irrecoverable debt is:

account to be debited account to be credited
A irrecoverable debts allowance for irrecoverable debts
B irrecoverable debts trade receivables
C allowance for irrecoverable debts irrecoverable debts
D trade receivables irrecoverable debts

H AoyIOoTIKN eyypa®n yia eTTICQAAELIG aTTaIThoEIG €ival N akdAoubn:

Ewo mioTWon
A emMOQaAgic aTTaITHOEIG TTPORAEWEIG VIO ETTIOCPAAEIG ATTAITACEIG
B emo@aAcic amaitioeig XPEWOTEG
I TPoBAEYEIC yIa ETTICQOAEIC ATTAITACEIC  ETTICPAAEIC ATTAITACEIG
A xpewoTeg ETTIOQAAEIC ATTAITACEIG
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20 On 1 March 2021 Stephanos purchased two machines, Machine A for €28 000 and
Machine B for €36 000. Stephanos depreciates machinery at 30% per annum using
the reducing balance method.

The annual depreciation charge for both machines for each year is:

depreciation charge for the depreciation charge for the
year ended 28 February 2023 year ended 29 February 2024
A €13 440 €9 408
B €19 200 €19 200
C €19 200 €13 440
D €13 440 €19 200

20 Tnv 1n Maprtiou 2021 o0 ZTépavog ayopace dUO punxavég, Tn pnxavi A yia €28 000
kal Tn unxavi B yia €36 000. O 2tépavog atroofével Ta unxaviuara katd 30%
€TNCIWG XPNOIMOTTOIVTAG TN HEBODO TNG PBivoucag attéoeong.

H ethola xpéwon TNG améoBeong Kai yia Ta dU0 pnxaviuarta yia Kabe £10¢ eival:

£TA0I0 aTTO0BE0N TOU AoVIOTIKOU £TOUC  £TAOIO aTTOORECN TOU AOVIOTIKOU £TOUC
TTou £Anée oTic 28 PeRpouapiou 2023 TTou £Anée oTic 29 PeBpouapiou 2024

A €13 440 €9 408
B €19 200 €19 200
r €19 200 €13 440
A €13 440 €19 200

21 At the start of the year a business’s rent received account had a debit balance of
€400. During the year €500 per month was received from a tenant.
At the end of the year the account had a credit balance of €200.

Identify the amount to be shown in the statement of profit or loss for rent received for
the year.

€6 600
€6 000
€5 800
€5 400

0w >
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21

2TNV apxr Tou £TOUG O AoyapIaohOG EVOIKIA EICTTPOKTEN MIAG ETTIXEIPNONG EiXE
XPEWOTIKG uttdAoiTro €400. Katd tn didpkeia Tou £Toug eloTrpdyxbnkav evoikia €500 1o
MAVA aTrd TOV EVOIKIAOTH. ZTO TEAOG TOU £TOUG O AOYAPIOOUOG EiXE TTIOTWTIKO
uttéAoitro €200.

YTroAoyioTE TO TTO0O TTOU TTPETTEI VA EUPAVICETAI OTNV KATAOTACT ATTOTEAEOUATWY YIA
TA EVOIKIA EICTTPAKTEQ VIO TO £TOG.

€6 600
€6 000
€5 800
€5 400

B w >

22

22

Which of the below pairs, are not books of original entry?

(i)  the purchases day book and the sales returns day book

(i)  the sales day book and the sales ledger

(i) the general ledger and the sales day book

(iv) the purchases returns day book and the sales returns day book

A (i) and (iv)

B (i) and (iv)
C (i) and (iii)
D (i) and (iv)

Mola atré Ta TTapakdTw feuyn, dev gival BonOnTika BIBAIa;

(i) 7O BIPAi0 ayopwyv kal To BIBAIO ETTIOTPOPWYV TTWANCEWV

(i) 1O BIPAI0 TTWARCEWY KAl TO KABOAIKO XPEWOTWV

(iii) 7O yeviKO KaBoAIKO Kai To BIBAI0 TTWARCEWY

(iv) To BiBAio emoTpo@wyv ayopwyv Kal To BIBAIO ETTIOTPOPWYV TTWANCEWV

A (i) kai (iv)

B (i) kau (iv)
(i) kou (iii)
A (i) kai (iv)
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23

2023 €
Unused stationery at the start of the year 400
Stationery purchased during the year 3 400
Unused stationery at the end of the year 720

How much should be charged for stationery in the statement of profit or loss for the
year ended 31 December 20237

A €3400

B €3080

C €3800

D €4520

2023 €

ApXIKO atréBepa YPAPIKNG UANG 400
Ayopd ypa@ikng UANG 3400
TeAIKO amméBepa ypa@ikng UANG 720

Méoo Ba xpewobei yia ypa®ikA UAN N KATAOTACN ATTOTEAECUATWY YIQ TO £TOG TTOU
TeAciwoe oTig 31 Agkepppiou 2023;

€3 400
€3 080
€3 800
€4 520

B w >

24

Demetris maintains an allowance for receivables of 5% of the trade receivables at the
end of each financial year. The balance on his allowance for receivables account on
1 January 2023 was €700. Trade receivables on 31 December 2023 owed €2 000
more than they owed on 31 December 2022. How did the change in the allowance
for receivables affect the profit for the year ended 31 December 20237

€100 decrease
€100 increase
€800 decrease
€800 increase

o0 w>r
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O AnunTpng diatnpei Aoyaplacpo TTPORAEYnN yia TIOQAAEIG aTTaITAoEIG Uyoug 5%
TWV XPEWOTWYV OTO TEAOG KABE AoyIOTIKOU £TOUG. TO UTTOAOITTO TOU AoyaplaooU
TTPORAeWnN yia emo@aAcic amaitioeig Tnv 1n lavouapiou 2023 Atav €700. O1 XpewWOTES
oTIg 31 AekepPpiou 2023 6@eihav €2 000 TrEPIcOOTEPA ATIO O,T1 OPEIAQV OTIG 31
AekeuBpiou 2022. Mwg eTnpéace Ta kKEPDON, N aAAayr) Tou TToooU TNG TTPORAEWNG YIa
ETMOQAAEIG ATTAITACEIG YIa TO £€TOG TTOU €ANnge oTig 31 Aekepppiou 2023;

€100 peiwon
€100 augnon
€800 ueiwon
€800 augnon

B W >

25

25

A decrease in a current liability account may be offset by:

an increase in another asset account

a corresponding decrease in owner’s capital

a decrease in some other asset account

a corresponding decrease in a non-current liability account

OO >

Mia peiwon evog BpaxutrpoBEopou TTaBnTIKOU, NTTOPET va eEoudeTEPWOET ATTO:

MIa augnon o€ KATTolo AANO OTOIXEIO TOU EvEPYNTIKOU

MIa avTioToIxXn YEiwon oTo KEQAAQAIO

MIO PEiWON O€ KATTOI0O AANO OTOIXEIO TOU EVEPYNTIKOU

MIa avTioToIXN MEiwon €vOg HOKPOTTPOBECOU TTAONTIKOU OTOIXEIOU

B w >

-TEAOZX -
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